Jooboooodotdodboboboobouououogogn

ggbooobogooobooobon

20100 50 260060 20

ooo0oo0ooO0o0oo0ooo0o000ooo0o0ooooO0o00oo0o0o0ooo0o0o0ooo0o0o0ooo0oROOOOO

oboboooooooooooooooooooooooooooooooooooOooOoOoOoOOOOOO0O00O0

0o
1 ROOO
1.1 RODOOODOODODO [20100 110 8000+« v v v o e e e e e e e e e e e e e e e e e
1.2 RODOOOODOO . . o e e e e e e e e e e e e e e e e e e e e e e s s s s s e
1.3 RouiDOOOOOOOOOD0 + .« v v e e e e e e e e e e e e e e e e e e e e e e e
1.4 RCommandeDl OO . . . . . v ittt e e e e e e e e e e e e
2 goooooobooooog
2.1 00000 . . o e e e e e e e e e e e s e e e
22 000000000000000000 . . . . e e e e e e e e e e e e s e s e e
2.3 000000 . .t e e e e e e e e e e e e e e e e e e e
2.4 OOO0 . ot e e e e e e e e e e e e e e e e
2.5 OO . e e e
3 gooooooooo
3.1 000000000 FOO .. e e e e e e e e e e e e e e e s e s s s e
3.2 WelchOOOOODO tOO . . .. v e e e e e e e e e e e e e e e e e e e s s e
33 00000000000000000 .« .« . v v v v e e e e e e e e e e e e e e s e e e
34 WilcoxonOOOOODO . . v v vt e e e e e e e e e e e e e e e e e e e e e e s e e e
35 WilcoxonOOOOOOOOD & v v v v v et e e e e e e e e e e e e e e e e e e e e e e
3.6 20000000000 . @ v v v i v e e e e e e e e e s s e
4 30000000o00oooo
41 00000000 . . . e e e e e e e e e e e e e e e
42 0000000000 (Kruskal-Wallis)\O OO O Fligner-KilleenD OO . . . . . o o v v v oo oo oo W
43 000000000000000 . . 0 v vt e e e e e e e e e e e e e e e e s e s e e e
4.4 Dunnettd OO O OO . . . o . e e e e e e e e e e e e e e e e e e e e e
5 3000000000000
6 Oooooooooooa
6.1 00000000 . . v v v et e e e e e e e e e e e e e e e e e e e e e s s e
6.2 OOOO . o vt e e e e e e e e e e e e e e e e
6.3 0000000000 . . 0t e e e e e e e e e e e e e e e e e s e s s s e



6.4 0000000000000000 . . v v v e e e e e e e e e e e e e e e e e e 28
7 goooooono 29

7.1 000000 . . e e e e e e e e e e e e e e e s e e e e 29

7.2 00000000000 . .. . v e e e e e e e e e e e e e e e e e e s s s s s e 30

7.3 0000000000000000 . . 0 vt e e e e e e e e e e s e e e e s s 30

7.4 00000 (ANACOVA/ANCOVA) . . o oo e e e e e e e e e e e e e e e s e s e e 32

75 00000000000 . .. . v i e e e e e e e e e e s e s s s s e 34
8 200 0000000000000000000000O000O000O0 37

8.1 0000000000 . . i i e e e e e e e e e e e e e e e e s s s s e 37

8.2 00000000000 . .o . v e et e e e e e e e e e e e e e e e e e s s s s s s 40
9 gobooooooooooooooooooo 41

9.1 OO0O0OOODO . .t e e e e e e e e e e e e s e 41

9.2 00000000 + v v vt e e e e e e e e e e e e e e e e s e 42
10 gooooad 43

10.1 00000000 . . . v o e e e e e e e e e e e e e e s e s e e e 43

10.2 OO0OO0O0O0O00O0 . . . 0t e e e e e e e e e e e e e e e e e e e e e s s s e 44

10.3 OOO0O0OODO . . .t e e e e e e e e e e e e e e e e e e s e e 45

10.4 OO0 . . v o e e e e e e e e e e e e e e e e e e e e e e 47
11 gooooad 51
12 oo 51

~

jodooooooooooooooooo0oooooooooooooooo

0000000 e-mail: nminato@med.gunma-u.ac.jp

2010 0 50 26000 0.50000000

20100 80 17000 1.e000000O0O

20100 1108000 1.100000000000O0O0OODOOOOOOOO

20100 110 10000 1.1.1 000000 typoO OO0

20100 110 16000 1.1.200000000000

20100 110 22000 1.1.30000000000000000000000O0O00O00OO0O
o J




1 ROOO

RO MS Windowsl1 Mac OS] Linux 0D O00O0OO00O0 OSOO0ODOOWindowsOO MacOSOOODOOoOoOooOO
0000000000000 00000000000000LINUXOO tar000000000D00O0DO0O0OOO0OO
00000000000000000000000VIineLinuxOOOOOOOOOOODOODODOOOODOOOOOOO
goobooboobobooboooboooooooo

0000000000000ROOI0000O0OO0O000000000000000 RemdrOD 00000000
0000ROODOUDODOUOUUUUUUUUOUUOOODUDODOUDOUDODODODODODODODOOOOOODODDODDODRODODODOODOOO
0 0 CRAN (The Comprehensive R Archive Networlk)D 00 0000000000 OOOCRANODODOOOODO
000000000000 000000000000000000000000000000000000*0000
0D0O0*®000000000000000

11 ROOOOOOODODO [20100 110 8000O]

Windows CRANOOOOO R-2120000000000000*000000000000O00O0O00ODOO
O000O0 WindowsDOOOOOOOOODODODODOOOOODODODOOOOOOODODOOOOOOOOOOO
0000000000000 0000D0D0000000000O Japanesé 00 EnglishDOODOOOO
0000000000000 0000000RODUDODDOUOUODOOODOUOOOOUOOOO ™ ENglishoO
000000000000 0[Setup -R for Windows 21200 0 0000000000000 O[Next]OO
00000000000000000000 [Nex)DOOO0OD0OO0O0OO0OO0OO000O0OO0OO0OOO0OO0OODOOOO
C:\Program Files\R\R-2.12.0 0 [Next| 000 0000000000000 000O0O0OO00OOOOOOOO
000000000000000 Userinstallation 000 0000000000000 O0O0O0OOOOOOO
O000DO0O0OO0OFuUllinstallationD 00000000000 [Next DO0OODOD0O0O0ODD0O0OOODOOOOOOO
00000000000 000 (Do you want to customize the startup options) 0 D00 00000000
0000000000000 No (accept defaults)d O O O Yes (customized startup)d O OO0 0 0 0O O [Next]
0000000000000 0D*®000000000Donoooog SDI (separate windows)J O O OO QO QOQO
O[Next{OOOOODODOODOOOO HelpStyleDOODODODODODOODOOOOOOO Plaintext0OOOO0O0OO0OO0O
[Nex{) 00D O0OO0O0O00000000O00O0O0O00O00O0O0O00OOOInternetExplore 0000000000
goobooboobobobooobbtooobbooobooobobUooobbUoobODbbooUbobooobDbooo
000 Internet20 00 0000000000000 D0O0D0O0OD0O0ODO0O[Nex)0OODO0ODOOOOOO
ddd0d0o00o0o0oOoOoOoooooOoOoDOODOODODODODOO0OO0OO0 ROOOOOOOOOOOOOOOOOOOO
000000000ROOUUUOODOODODOOOUUUUODOOO.RDatal D0 0ODODOOOOOOODO RODO
DIZIIZIIZI[IDDDIZIIZIIZIIZIDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD*GDDD[NeXt]
0gooo0oooooooooboooooOo0ooboooobooooOooooDoOooooDoOooooooon
O0000000000[FiNishlDOOODODODODO0O0ODOD0O0O0O0 ROODODODOOODODOOOODOOOODOOOO
00Doo00oooo0ooo0oo00ooo00ooo00DoO00oDooOo0oDoO0 ROOoOooOooOoooo
0000000000000 00000O00@UO0D000O0D0DD0DO0OO0DDOOoODOGUIDOODDOODOD
000000000000 Courieri 0O MSOOOOUOOOOOODODDOOOOODODOODODDOOOODOOOMROO

*120100 1100000000 21200 0000000000000 ROODODOOOOOO 21110000

*2 http://cran.md.tsukuba.ac.jp/

*3 http://essrc.hyogo-u.ac. jp/cran/

*4R-2.12.0-win.exe

SO0Q00000000000000000000ROOOOOOOOONDONOONON0ONDO1000000000000000000 MDIOO
J000000000000000 RCommandetl 000000000000 OOODO

0000000000 000000000000000000Createadesktopicoh 0000000000 DOO0OOOOOCreate aQuick
Launchicomd 00000000000



000000000000000000000000000Y0000000000000000000000
oooooooooodo

Macintosh OO0 O0O000 R-212.00000000 OSOOMac OS X 10.5 (Leopardp 00D OO0 OO CRANDO
O000R-2.12.0.dng 000000000000 O00ODODO0OOO0ODOOO0ODOOOOO0ODOODDOOODO
00000000000 Rmpkg0 0000000000000 O000OO0DODOOOOOOOODODODODODODOO
00000000000 000*®000000000000d

Linux Debiard RedHafFedora Coré1 0 00 0000000000000 0DDOO0O0OOOODOOOOOOOOO
O0O0O0OCRANOOOOUUOODODOOOOOOUOOOUUOUOODODOOOOOUUOODODODODOOOOODOOO
gooooo0dooOooooodoUoO0oOooOooUOOoU0oO0obOOOOU0OUOODOoODODOoDUODOUOLObOO
CRANOOOOO R-2.12.0.tar.gz0 0000000000000 0O0O0O0O0OOOOOOOOOOOOOO
O0./configure D make 0000000000000 OO0DO make install 00000000 OOO0OOOO
00000o0ooooooooooooo

12 ROOOOOOO

000000 WindowsOOOODOOOOO LinuxOOO MacOSXOOOOOOOOOOODODODOODOOOOOOO
0O0000oo0O000o0o000oo0o00ooo0o0oo0o0o\Noooooooooooooooooo

WindowsD O OOOOOOOOOOODOOOOODOOO0OOOOU0OOD0ODDOOD0OOD0ODOOD ROODODODOODOD
0*0RguiD 0000000000000 D ROODOOODODOODOOOODOODOOOO*000000000o
000000000 .RprofleD 0 0000000000000 .RData0 00000

C )

000000000000000000>-0000000000ROD0O00N0DN00NOO0N0DN0ONOONO
0000000000000000000000000000000000000000000000000000
0+0000000000000000WindowsDOOOOOOOO0OO0O0000000000000000000
(ESCoooooooOoOoO0OOoOO0Nooonon

0000000000 MOD000000000000000000000000000000 Sourced 0000
0000000000000000 source(l 000000000 0000000000000 O00WindowsO O
0000000000000000000000000/000\00000000* ' 00000000000000
0000000000000 0000000000000000000000000000000000000000
000000000000000m

D00000000(10000000000000000000000000

O00DRODOODOOOD0O0O0O0O000 bin0ODO0OO0OD00DDOWindows 2000XP0 000000000
0OROODODOODOROODOOOODOODOOOODOOOODOONOOD0OND ROODOODOODO0OOOO00000
0oooooo

“I http://www.okada. jp.org/RWiki/?%C6%FC%CB%DC%BS%EC%B2%BD%B7%C7%BC%A8%C8%C4] RjpWiki D 000 000000000000 O0

8 http://aoki2.si.gunma-u.ac.jp/R/begin.html

0000000000000 000000000000000000000000000000000000000000000000

“00ppoO0000000000000000000000mMO00000 (SOO0O00D00D0000000DO0ODO00OO0O0OOoDoDOooOo
RUSERODOODODO0DO0O0DODO0DD0OODO0ODOO0DO0D0N0ND0D0N0N0D0NO00DON0N0D0N0N00N00on00o0o0DOooo.Renviron
OO0OR_USER="c:/work"O0 0D 0000000000000 0D0DMODOOO0O00O0OO0O0 proxyDOOOOOOODOOOOODDOOOOODO
0000000OWindowsDODDODODOOOOODDOOOO proxyDDDODOO0OO0D0DDO0O0O0O0ODDODODOOO0DMOOODOOOOOOO
J0000--internet2 0000000000000 00O0O0O0 ROOODOD0OODOODOOODOODODOODDOODODOODDOO LANG=C LC_ALL=C
jo0o0oU0o0o0o0oO0oROOOOOOOODOOOODOOOUOOOODOOOMDIODOOOOOUDOOOUODOOOOO SDIDODOOOOO
O00--sdi0D0000OO00OOO

“\000DO0000000O00000000000000000 ¥0000



13 RguiDOOOOODOOODODO

oo a0
00 <-00001040600030000000000000 XOOOOOODODOOODOOOOooooOooo

o >
)

00 functionQ ODOO0OO00O000O0O0O0O0O00O0O0O0 meansd) OO00O0O0O0OOO

Cmeansd <- function(X) { list(mean(X),sd(X)) }

00 install.packages() JOOOOCRANODO Remdri 0000000000000 00O000O0O0O00O*20

Cinstall .packages("Rcmdr", dep=TRUE) )
O

gbooooooooooobooboobooboboooooooooboobOobOO0obOobOobOOobobobboboboooboo
gobooobooboobooodooooobooobooooobobooobooboobOobOOoOobobOobboooboOoon
dep=TRUE O dependendy 000000000000 RemdrD 000000 0ORemdr0 000000 DOODO
oooooooooooo0o0c0O000O0b0O0O0O00O0TRUED TOOOOOOOOOO TOOOOOOOOO
goboooobooooooboooooboooooooooooooooo0ooooboooboobbOooDbbooD
OTRUEODOOOODOOOODOOOO0ODOOOO0O0O00O0

oob 20000t00000 t.testO000O0O00O0ODOt.test000O0

goboooobooooooooobooooooobooboooooboooooooobboooboobooOobobooOOoBDoboOoo
gobooooooooooooobooooooooboooooooooooobooboOoboobOobOobOoOooobooo
U0b0O0«-00000000000

1.4 R Commanderd QOO

0000000000000 0000D000000000000ReMArD 0D DDDO0O0OO0O00O0DDDOOO
O00D0ORemdr0 0000000000000 OOOOODDODO library(Remdr) 00000 DO0OO0ODOO R
Commandetl GUIOODOO0O0O0O0OO0O0OO0O0O0O0O0 RCommanden 0000000000000 library(Remdr) O
O000RemdrO 0000000000000 OCommander) D000 O00OO0ODODODOOOdetach(package:Remdr)
0000 Remdr000000000000000O0 library(Remdr) 000000 R Commandedl GUIOOOO
o0oooooooooo

2 DOhOoOoOobobooooobg

21 O00OOOO

goboooobooooooooobogooooobooooboobooooboobooooboboooboobooOoboobOoOoOoBDobooOoo
gobooooboooooooooobooooooooboooooooooooooobooooobooOoboobOoOooobooo
goboooboooooooooo

gobooooboooooooooooboooobobooooboOoooboboOoobObOobooDOboObLObObobOOoobooOOoo
0000000000000 00DO0O60Kkg, 66kyg, 75k 0000000000 RODODOOOODOODODODOO
0000 mean(c(60,66,75)) 000 (60+66+75)/30000000

0oooooooooooooooooooooooooooooooooooooooooooOoOO0O00000
gooboooooooooooooboooooboooooooooooobooooobooboooboOobooDbbobooobooo

200000000000 Windows Vistal 000 0000000000000000000000000O0O0OOOOOOOOOOOOOO



OOMicrosoftExcel0 0000000000 U0O0O0OOODOOOODOODOOUOUODOODOODODOIODDODOO
oobotbooooooooooooooooooooooooooo

OO0 ID 00 (em) 00O (kg)

1 170 70
2 172 80
3 166 72
4 170 75 1
5 174 55 ’
6 199 92 3
7 168 80 2
8 183 78 5
9 177 87 &
10 185 100 2
e
10

00000 MicrosoftExcelD 000000000 D0O0UOOOODOODOODOOODODOOOODOOD ROOO
goooooooooooooooooooooobboooobooobooooOoobOoOoobobOooDbOooDboboOoo
0000000000000 0D00000000000EXcelDOO*xIs OO O Opendtice.orgd calcO OO *.odsO
gmooooooooooooooooboooon

000000000000000000000000MicrosoftExcell 000000000000 OOO (FHOOO
00000000000000000000000000000000000 (MO00Do0oo00ooooooooooa
00000000 CGx)0000D0000000000000000000000XsO0 xXtOOoooomaoo (S)a
00o00oUooo oKOOoOUooooOooUoUoooooouoUomoooooooooooooooooooooooo
0000000000000 00000000000000000000000 ExcelDODODODDODDODOODOODO
goboooobooooooooooooooboooobooooooooboooooooboooboOobooDbbooDbooo
0000000000000 0000000000000000M 00000 0desampletxdi 0000

o7 BT 2l

BEED [T swios Jem|@ ¥ i v

o N orinstl - [anoett JEEee
e F |

ROODOOOOO0OOOOO0O0O0OODDataset 0000000000000 O0OOOOOO0ODOOO 1000
ooboooooooooooooooooooooooooooooooooooOooooOoOOOOOOOO0O0O0O0
ooom

Dataset <- read.delim("desample.txt")



RemdrO0 O 0OOO0OO0OO0OO0OO0OO0O0OOO0OO0OOO0OOOOO0OOO0OOOOOOO0OOODOOOOODOOOOOOOOOOO
gooooooooooooooooooooOooboboobobobOobobobobooobobooboboo
0000000000000 oo0oo0doo0ooooooon DatasetD 00000 ODOOO0OOOOOO
0000000000 000oo00ooo@uUDoo00oodeD000ODODOODODmMOKOODODOOOOO
gooboooooooobooooo

0000000000000 00OExcelDOODODODOOOO0OO0OOO0OODO0O0O0O0OO0O0OO0DO0DmMOOOOoOoOoOo
gooooooOobooooobOobOoobOooOoOobO0obDO0O0O00ObOoOO0O0oDOODO0@moobDOobDooDo
0000000o0ooooo0o000oooooooo000oooooomooooooooooooooK OO
obobobooooboobooooooo

[00000]R-2.9.00 Remdr1.4-900000RODBCOOOODOOOODODOO ExcelDODDOOOOOODOO
O000000MOO00000000000000000from Excel, Access, ordBase dataset] 0 00 0 OO
0000000000000 0000000000ExcelDOD 0000 OO0OO0OOOOOOOOOOOOOOOOO
gdbobooobboobobuooobboobobbooobobg

22 J00O0OOO0OOO0OOOOOOOOOOO0

00o000oo0o0o0ooo00ooooo020000000000000000000000O0O0O0OO00O00OODO
0000000000000 D00D000U0UOEXcelDOOODOOUOOD 2000000D0O00O0O0LODODODO
1000000 SheetlD SheetZ 00000000000 OSheetx ) 0000000 OAIDOD

=If(Sheetl!Al=Sheet2!A1,"","X")

0000000000000 0Sheet3 00000 Sheetld SheetD 0000000000000 OODOOODOOO
000000000000 0O™X"000D0O000000000000o0oo0 Sheetln Sheet2Z D ODO0OOO0OOO
00000000000 Sheetx 00000 O0OODO0OOOOOOO

00000000 2000000000000000000100 200000 200000000000000
oooo0100000000000000000000000000000000O0O0O0DOOOOOOOO0O00OO00
ooo

23 O00OO0OO0OOO

gobooooboooooooooooooooobooooooboOooobobooooOoboOoooboOoboOobOobOOoOooooOooo
gboooooooooobooboooooobooboboooboOoboooobOobOobObOUOoOOobOobOobOoOobooo
gobooooobooooobooooooooboooobooooboOooooOoOoOobooboOobOoOoOoboOobOobboOoOoboOoon
gooooooboodoobobooooooooooobooobooooooboooooooobooooooobooobooogon
oobooooooooooooooooooooooooooooooooooooooooooOoOoOO000000
gobooooooboooooooooooobooomoooooooooooooooooooooooboooDbobooo
goboboooobooooooooooboooooooobooooooooooooooboOoboUboOoboobOoboobooo
goboboooooooooooooboooooooooooOOooobOOoOobooOoOoobOobOoOobOobOoobboOooboOoo
goboooooboooobooooobooobooboOobooOoOoOoOoOoOoOoOoOOoobobOOooboog

0000000000 0D0O0OD0 (NAODODODOO0DOO0ODOODOOO0O0ODOO0O0OODO0ODOOOOOODODO
00000000000 000000000000000000000000000000000000000*300
0000000000000 00000000000D00000000ROO NAOSASOO .00O0ODOODOOOOO
O0ExcelUDODOODOODOODOOUDOOOOUDOOODOUOOODDOOOODDOODOOODOODODOUODODODOODO
goomooooooooooooooooooobooooooooboOobOoOobOoOobOobOoDOOoboOoboOobOooboobo

BOoooD00000D0000000000000000 ROO read.delim) 0000000000000 O000000O0O0O0
na.string="-99"00000000000000000000O0-9900000000000000000000O0



0000000000000000000000000 ExcelDDOODOODODODOODOUOOODDODOODOUDOODO
O00000OExcelDOODDOOOODODOODOODOODOOOODDODOODOODOODOODOOODODOODDODmMOODOO
goboooboooobooooobobooo
gooooooboooobooboobooobobobobooobOobDoobOoOobOobDoobobobobDoO oo
00000000000000000000000000000000*“00000000000000000000
000000 0000000000000 0o0000o0000000000000ExcelDOODDOOOOOOOOO
goooobooooooooboooboooooooooooDOo0oDooO00obO0mUuoooobooDooooDobo
10000 0000000000000 0000O000O000UO0OD 80000 UUUODLOODODULULODO SOUOODO
000000 (recovery rate)] 80%180100)0 00000 0D O (effective recovery rate) 75%01 751000 00 00O
0000000000000 0000000000000000O000O00DODO0O0OOOO0On 80% 0000000

24 0000

000000@@)Uoo0000o00o000o000 (2Uo0DoO0Do00Dooo0o00oUoU0OoOLoOoooooUooU
gobooooobooooobooooboooooooooooooboooooboooooooboOoOoobooOobOooboboOoOoboOoo
gobooooo

oobooooooooooooooooooooooooooooooooooooooooooOoOoO0O00000
gobooooboooooooooboooooboooobooooooooboooooooboooooOoooDbOoooobooo
gobooooo

goboooobooooboobooooobooooboboo

gb0bOO0Omeand OO0O0O0OO0O0O0OO0OCOOOODOOOOOOOOOOOOOOOOODOOODOOOOOOODODOO
goboobooooooooooooooooooooboboooobobobooooboOoOoOoOoDOoDOODOon
gobobooooooooobooooobooooooooOoboOoOoOoOoOoOoOo0oOoOoboOoOobObo0oOobboooDbboooon
gobooooo
gobooobpboOoooOOoOoOoDOOoOn

o=

=|%

000O0XOOODOOODOO0OO0OO0O0OO0OO0O0O0Oo0ONDOOODOOOOOY00o0o0ooo0Ooooonoooono
000D0000000000000XX=X1+Xo+Xs+..+Xy000O0O
00000000000 000000000000000D0DDDOOODDDO0O0000000000000D0O
00000000 X0000O0000o00oooo
— X
xo2X
n
00D00OnO0DOO0ODOOO0O0DOOOOO*Sg
0000000000000 00000000000000D0D0OOODDO0000000000000000

oooo _ _ _
N1 (X1) + N2(X2) + ... + Np(Xn)

ng+nNp+...+ Ny

)z:

O0O0OmedianD O00000O0O0O0C0COO0OO0O0OO0O0OO0O0O0OO0OOOCOOOOOOOOOOOOOOOOOOO0OO00
gboboooooooobooooooooodboodoboboboboobooboboooooooogon
0000000000000 00O00DO0000D000O0D0O0OOOOOO (sortinQOOOMMOOOO
0000000000000 0O00000O0000DO0000DO00mMU0LO0DO0OLOO0DO0OOOa central

4 0pooD000000000000000000000000000000000000000000000000000000000O0O0
0o0oo0o0o0ob0o0o0oO00ooooooo

0000000000000 000000 X000 X000O0000000000000000000 X000000 X00000ooo0o
00000000000000000000000000000000000000000000 X00000000000000000
000000000 XO0O00000000o0o0



tendency] 000000000 0ODRODUO0ODODOODOOOOOmedianQ OO0 000O0OODOODOOODOODO
goboooooooobooboooooooobooooooooooooobooooboooobooooonoo

O0O0O0OModeDl 0OODOODOOOOOOOOOOOOOOODOODOODOODOOOOOODOOOOOOOOOO
OO0OROD table(X) [which.max(table(X))] 000000000000 OO0OOOOOODOOOODOOOO
goboooooooooooobooooboO

00000@)o0o0000O000000000000E)UUDD00D00D0O0D00DD0OUDDOODOODDOODDOUOO
0000@UUU00000000o00o000000o0o00000o0o0o000000ooooo0ooooooon
00000000000000000000QR)0000000000000000(R) 0000000000 Ooon
00000000 0000000000000 000000000000000D000DO00oonOo0oooan
gobooboobobooobooobooooboooooboooboboboboboboboboboboboobooboobooooon
gboboobooobooobooboobooboooobooboobobobobobobobobobobobooboboobooooon
gopboooboooooo

000000 3000000000 (geometricmean) 0000 (harmonicmean) 00 000000000000
goooooooobooboooooobooboobooboobDooboooOoDoobooDOoo™@WoooDooDoo
goboboooooooooooooooooboobobobobobOob0obobDobDobDoboDoDooDoooooo
gooobooboooooooooboboobobobobobobobOobobobooo

00000000000 VariabilityDDOOODODOD0OODOODOODODOODOO 400000

00000 (Inter-Quartile Range; IQR) 0000000000000 O0OOOOOOOOOOOOOOOOOOOO
0000000000000 0O00O0O0O0ObLO0O0OLO0O0ODO 1/4,24,34A00000000000 (quartile)d O
001400000000034000000000000000000 25%000000000000000
00 75%000000000000000224000000000000000000000000O0O0OC0OO
oooooooooooooooooboOooooooooboboOoOoooooOoOoboOoOoOoooooOobobOoOoooo
goboooobooboooooboooobooooooooboooooooo0oooboboooboobbooDbboooD
gooboooooooooboooooboooooooobooooooooOo0ooboobooobobobbooDbbooon
O0000RODO fivenumQ OO0O0O0O0O0O00O0000O0O0O0O00O0MOOOO0OO0OOOOOOOOOOOOO
000000 Q1,Q2,Qa0U00li0ioo0o0o0o0oUo0ooo0oo0ooUoooooooDOooog
0000000000O00o00oO0oOooo0bM 00000000 o0oUo0o0oooooooDouog
ooooooooo

00000 (Semiinter-Quartile Range; SIQR) 000000000000 0O0O0OODOOOOOODOODOOODOOO
gobooooboooooobooooobooooooooboooooooo0oooobooobooobbooDbbooon
0000000000000 000000000000IQRO SIQRUODOOOODOOOODOOOOOOOOO
goboooboobooobooooboboooobo

00 (variance) 000000000000 O0O0OOOO0O0OOOOO0OOOOOOOOOOO0OOOOOOOOOO
oo00oo0o00oo0o0oo0o0o0oo00ooOo00ooooo0boovoo

_Z(X-p?

v N

00O0000*Y0D000Nn0000D000000N-1000000000 (unbiased variancg) 000000
0000000000000 0O00000O0O000O0O00ooO0O0On Voo

_ 2 (X=X

V,
ub n-1

O00D0ORODOvarQOODOOOMM

16 0QppO00000000000000000000000000000O0000O00000000000000000000OO0000
gooooooooooOoOoOoOoOoO0O0OO00O0booOoOoOoOO000O0O0O0O00O0O0CO0OOO0O0000O0O0O0O0000O0OOOO0O0O00O0O0
go0ooo0o0o000O00O000000000O0

A Opoo00000000000000000000000000



0000 (standard deviation) D OO0OO0O0OO0O0OO0O0O0OO0OO0OO0OO0OOOOOOO0O0O0OOOOOOOOOOOOOOO
0000000000000 D0000000000000ROO sdQ 00000 O¥ OO0 0O00000
O000Meanr2SD®0 0000000 95%0000000000000000000000000O0

Remdr00O0O00OO0OOOOODOOODOODOOODOODOODOOODOOOOOODOOODOOODOOODOODOO
goooooo0oO0oO0ooooooooo

25 00O

gobodooboooooooobooboooobooooobooooooooboooobooooooooooooan
oobooooooooooooooooooooooooooooooooooooooooooOoOO0O000000
oobooobooo

goboooooboooobooobooobobooooobooooboboOoobOobOoOoOoOoDOOObObObObObOobOo
gobooobooooooooooooo

O000O0O0ORemdrOO0UOUOO0OODOODOODOOODOODOODODOOODOODOOODOODOODOD
MASSOOOOOUOOOOOOO surveyDOODOOODOOOOOOOODOOROOOOOOOODOOO [ODO]
0000000000l 000000000000000000OMASSOOO0OD0OO [DOO]O[0O0DDOO0OO
0000]0 0000000000000 000000000000]l00000000000DO00O0UDOO
MASSOOOOOODOUOOOOOO0OOO surveyOOOODOOOOOO[OK]OOODODOOOOOOO

“‘survey’ 00000000000 OOOOOCODO 23700000000000000000000Sex0000O0OO
OMwr.HndDODODOOOO0O0D0OOCOOO0O0O0O0O0OemOO0OOO0OD0OCOON.EINdOODOOOOOODOOOO00O0
O0OcmOOO0OO0OO0OO0@MW.HndDOOOOOO0OO0O0MFoldbOOOOOOOOOOOOOOOODOOOODOOODODODOO
000000000 3000000000 Pulsel 000000000 Clap0 0000000 OOOOOOOO
0000000000000 0000000 3000000000 Exer0 00000000 0OOODOOOOOO 30
O0000000mMmsSmokeD D 00000 DO0ODOOOOOO0ODOODDOOOOOOOOOOOOOOOO 40000
O0000MHeight0O0O00OcmOOO0O0O0O0MNM.IO000O0000O00O0DOO0OO0OO0COCOOO0OO0OOCGOOOO
gobooobDOemO muODOOOODOOODOOOmMAge0 00000000 OOOOODOO

goboooobooooooooooobooooboooobooboooon

00000 0O000O0DO0000000O0o000d0oU0oOoU0Oo0DO000oU0odoOoU0oOoOooOoOooOoO Xo
O00O0ORODO barplot(tableX)) OO OOOOO

RemdrOO OO surveyOOOOO0OODO0OOOO0O0O0O0DD0DMODOOOOODOOOOODOODOODOOOOO
Smoke 000000000000 O0O0O0O0O0O0OOOOO

00000000 0O00O00DO0O0O0O0O0O0bO0o0UD0OO0O0OO0OROO

fx <- table(X)
barplot(matrix (£x,NROW(fx)) ,beside=F)

O0D00000ORemdrOOO0OOoOO
0000 000000 100%0000000000000000000000000000ORODO

px <- table(X)/NROW(X)

18O 00000000000000000000000000000000000000000000000000000000000
goooo0O0o0b0O0O0O000O00000000O0
190000000 2SDO00000000000 97.50000000 1.959964.000000 2000000 2000000000000
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barplot(matrix(pc,NROW(pc)) ,horiz=T,beside=F)

0000000000 RemdrOOoooOoQ

O00000o0o0ooU0o0o0ooOoUoO0o0 0000 100%00000o0o0oooUo0ooooooUoUoOn
000o0o0o0o0o0O0000000000000000000000D0000D0000000RDO0O pieQO
oooooo

RemdrO 00 0000000000000 OOsurvey0OOOD0ODO0OODO0O0OO0OODOOO0OO0O0OOO Smoke
ogobooooobooooooooobooooooooobooooboooobobooooboboooooboOooooboo

gobooooboooooooooobooooooo

000000 0O000000000o0o00oDooooo00oO000000oO000O0OD0O0OO0OROO hist(Q OO
0000000000000 0000000000 “Sturges"00000000O0DOOOOOOOO0O
goooooboooooboboooooDb bbb ooDoObOoooooDbobooooo
godooboooobboooobboobobotbodob bbb obooobboooobooo
right=FALSEO 000000000 ODO0O0O0OOOROOOOODOO (Age)J0DDDO0ODDODODOODDDOOO
hist(survey$Age) 00 [J10000 20000000 1000000000000 0OO0OOOOOOOOOO
00000 hist(survey$Age, breaks=1:8*10, right=FALSE) 00O 00O

RemdrO0O0O0O00O0O0O00O00D0OO0DOO0O0OOsurveyDODODODOO0OOO Age0DO0DDOO
00000000000 o0O0oo0oOo0oOO0OoDoOoUoOOoooO70000000 1675000000
oooooooooooooooood3

00000000 OooooooooboboboOoodooooooboboboboooOooooooooooooooooon
O000MMROO qgnorm() DO D000 0OODO0O0ODsurveyl0OODOOODOODDO (Pulse)000O0OO0O
00000000000 qggnorm(survey$Pulse) 0O 00O

RemdrO000000000QQUUDOOUDODOOsurveyD OODOODOODOO Aged0O0ODDOO
O000000000000000C0C0COPulsed 0000000000000 OOOOOOOOOOO0O
ooooo0oooooooo

0000 (stemandleafplot) DO0ODO0OO0O0O0D0O0OO0OS000001000000000000000000O
0000000000000 00000000000000000000000000RO0O stemQ OO0O00O
00000000000000000000000O stem(survey$Pulse) 0000

[RcmerDDDDDDDDDDDDDDDDD ]

0000 (boxandwhiskerploty OOOOOOOOOOOOO0O0O0O0O0OO0OOOOOOOOOOOOOOOOOOO
JdoDo0oooo0ooo0oo0Do0U0oDoOooDoOoU0ooDOoOoO0oOOoOD 1500000000000 00
ggoboboobobobooobbuoo0obbooobUoo0obDbUooUDbb0dUdUocbOUOUbDDbUUOUUODbDbDOUOD
gooooooooooooobooboOobOobOobOobO0obDO0DOobDOobDOobOOobOOoOobOoobooboboo
O00000ORDOO boxplotQ) OODOOOOUOOOOOsurveylOOOOOOO (Smoke) DO OO0 (Pulse)
0000000000Oboxplot(survey$Pulse ~ survey$Smoke) 0O 00O
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Remdr 00000000 O0O0OOO0ODO0OOOOsurveyODO0OOOOOODDOODOOODDOODOOODODOO
000000000 Pulsed000[000000OD0]0D00DO0O0O0O0OO0ODOODOOOOODOODOOOO
000000000 Smoke DD OO0 [OK] OODOODDOODODOOODOODODOOODOOODODOO [OK] O
oboooooooooooooboobooobooooobooboooobOoOobOoboooOoOooOoobOoOoBbOooo
gbobooooooooooobooOoobooOsurveyOOOOoOOOOODOOOOOOOOOODOOOO
00000000000000MO00000 SmekelDOODOOOOOO Pulsed 000000000
oooooo0ooo0o0oOoOOoOoOonooooooooooooooooo

/
00000000 0D0000DOoOOO0000D00O0OO00000000000000000000000O0O00000
0000000000000 000000000000000000000000000000000O00O000A0
0000000000000 000000000000000000000000D00000ORDOO starsQ
000000U0U00oO0oUO0DOOdstarsQUO000O0OO0O0OO0OOOOUOODOOOODODOOOOOOO
000000000oooUoUdddpletrix000000 fmsbO0OOOODODODODODODODODODOODOOODOOOO
OO0 CRANOODUOOODOODOOOOOODODODODOOOOODOO install.packages("plotrix™) O
install.packages("fmsb™) OO0 OO0 000000000000 OOODOO0OO]library(fmsb) OO OO0
example(radarchart) D00 00000000 O0ORemdrO0 000000
000 (scatterplot)y 0000000000000 0O0O0OOOOODDODOOOOOOOOOROO plotQQOODDODO
0000000000000 0000O00DOOdOd plotQ 0O pchO0O0OO0O00ODOOOOOOOpointsO O
0000000000000 00DO0O00CO0D0OOU00OO00O0O0OOd symbolsOQOOOOOODOOOO
0000000000000 O000DO0O0000OooOOO0d0O0ODOn matplotO 000 matpoints() O
0000000000000 00OO00DO0000O00Od pairsQOO0OO0O0O0OOOOOCOOODOOOOO
00000000000 textOOOU0ODODO0O0OODOOOODODOOOODOOODODOOOODOOOODOOOOO
identifyQ U 0O000O00Osurvey D000 0OROOODDOOOOOOOODOO (Age)JO00O OO0 (Height)
000000000000 0D0Oplot(Height ~ Age, data=survey) DO O 0O00O0O

RemdrO0 0D 0000000000000 0O0OD0O0DDO0OOO0O0D0O0UOOOOOOsurveyOOOOooQ
000000000000 000000000D000O0x00000 Agely00OD00OO HeightOODODO
000000000000 o0[0000000]0000000000O00D0O00U00 SexOOODMmMOO
000000000000 00DODO00O0OO0O[OK]ODOOD0oO00oLOO00LO00DLOO0DOO0DOOODO
ocoooooooooooboboObbOLUOOUUOOxUOULOyOOODODOOOOOOO@MODOOOOO
ocooooooooooooooooboboboobOObOOOOObOObOOOOObUOOOOOO

0000000000000
o /

3 UbOboooooog

goboooobooooooooooboobooooobooooooooboooooboboboooboobooOobobOoOoOoBDobooOoo
goboooooooooooobooboooooooobooooOoooooOooooOooOooboOobOooboOoOoobOoOoobooo
gobooooocooooboooooboooooooobobooobOOo0ooOoOoOoboOobOoOobOob0OobbObOOobbOOooboOoOoo
0000000000 ORothmand O Greenlandd 00000000000 DO00OO00OOO0OODO0ODOODOOODOO
Op0O0OO0DO0D*00000000000000000000O00

oobooooooooooooooooooooooooooooooooooooooooooOooOooO000000
goboooobooooooooooboooooboooobooooboooooboooooooboooooOobooDbbooobooo
goboooooooooooooboooooooobooooooooooooboOoboOoboobOobOobOoOooobooo
bopbOOOO0OO0OO0OOOOODOOOOOODOOOOOODOOOOOOODOOODOOOODOOODOOOOOO

2000000000000 00000000000000000000Ofmsb000000 pvalueplot() 0000000000000
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goboooobooboo pbobbOOObOOOOOOOOODOOOOOOOOOOOOODOOODOOODOOODOOOO
gobooooboooooboooobobodoooooooboooooooooooooobooooooooooooooan
ooooooOooooOooooocoOoooOoboOoO0oOoboOoOoO0oOooOoboOoOooOooO0OoOoOoOoOoOoOoboOoOooOoOoOoOooan
gobooooboooooooooboooooooobooooboooooboooooooboooooOobooDbOoooobooo
goobooooooooooooobooooooooboooooooooooobooboOobooboOobOOobOobOooobooo
gobooooboooooboocoooobooo

O0000o00o 00500 00100000 UDOOODOUDOOOUOOOODOUOOOOOUOOOODOO
gobodoobooboooobooooobooooooboobooboooooooo

oobooooooooooooooooooooooooooooo

1. 0000000

Da0000000000*30WelchDOOOROO t.test(x,y)0%
ObOOD0OOO0OO0O0OOO0OO000OO0OWilcoxonOOOOOOORODO wilcox.test(x,y)O
2.00000000000000000D00RO0 prop.test()D

31 0O000O0O0ODOO0OO FOO

0000000000000 0000000000000 XO0YOOOOoooooonO nOOOOOOOOOO
gobboooboooooooooooboooooDo

O0oOO0O0O0OO0OXOYODODDOOD SX-var(XO O SYy<-var(OWOOOOOOOOOOOOOOOODODOO sX>-sYyoOo
00000000 Fe<-SX/SYO O 1000 DFX<-length(X)-100 2000 DFY<-length(Y)-10O FOOUOOO
O000o000oo00oo00 1-p£(FO,DFX,DFY) OO00O0O00O0O00OFOO0O0O0O00OO0O0OOvar.test(X,Y)
oooooooooooooooooooooooOoOOOOO XOOOOOOOOOcoOOOOOcCcOOOODOXOO
000000000000 0000000000DOO000O00O000O0O00Ovar.testX~O) 0000000

4 N
RemdrOOD00O00O0O0O0O0O0OO0OO0OD0OUOO FOOOODOUOOOODO (Groupvariable) OO cOOO

000 (Responsevariable] 00 XO00OOOOODOODOD0OODOOODODOODOODOD0ODDODO0OODODOODOOODODOO
00000000 oyloooooooUoU0oooU0ooooooooUoUo0ooooooDoUoUooooo
0000000000000 o0o0oo0oU0o0o0ooD0yloo0ooo OKM surveyO OO mMOUOOooOO
0000000000000000000000000000000 SexOODOOOOOOO HeightOOOO
[OK]ODoDoOooOooDOoOooO0ooDO0000o0000000000000D000000000o0o0DDo0oooDoOo
goooooooooooooooooobooooboooboooboboobbooobbooobObboooobbooo

ooooocoooooooo
- J

32 WelchOQOOOOO tad
to = [E(X) - E(Y)l/ VSx/nx + Sy/ny D000 ¢ 0 t0000000000000000000¢0000000

_ (Sx/nx + Sy/ny)?
{(Sx/mx)2/(nx = 1) + (Sy/nv)?/(ny — 1)}

ROODOt.test(X,Y,var.equal=F) OO 0Ovar.equal D00 0000000000000 OOOOO Welch
0000000000 0DOoO t.testX,Y)YOOOODOODOO XO0OOOOO cOobDpoOoDoOoooOooOooOO

¢

21 shapiro.test() O Shapiro-WikD D 0000000000000 00000000O0O0OOOOOOO

*22000000000000000000000000000 FOOOOOOOO0O0O0O000000000000000000000000
00oo0o0oo0oo0oo0oo0ooooo0oooo00oo0oooo00oo0LU0o0o0U0oo00D0DUO0o0O0D0DUOO0OFk
0000 20000000000000000t00000000 WelchDOOOOOOODOODODOOOOOOOODODOOOOOOODOO
00oooo0O0b00o0O00000bO0000b00O00000000O00000FOO0DOO0OO00OO0O0DOO0O00OO0OO0O0O00DOOO
O WelchDOOODOOOOOODOOOOO
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t.test(X~C) DO O0Osurveyl 00000000 ODOD0ODOODOODOOOOODOODOODOOOOOOOOOOGd
t.test(Height ~ Sex, data=survey) 00O0O0O

Remdr0 00000000000 ODOO0OOOODOOOtOO0ODO0ODOO0ODOODOOO (Groupvariable)DOO cOO
0000 (Responsevariable ] 00 XOOOOOOOODOOOOOODOOOOOOOODOOOOONOOOODO
00000000000ooO0o0ooOooo oKl oooooooooooobhooooOo0oLOooLOoUOoDooDO
000000000 0000000000 100000000000 00000000000DO000O0DO0OO
000000000000 0o000oOoO000o0O00oOO00oDoOO0oOOO0 ogl1oooOoO OoKooOooo
obob0ooooO0O™surveyOooooooooOoOoOoOoOoO0oOO0OOO0OOOOOOOOODODODDOOOOOOO
000000 SexOOOODOOUUOO Height 00000 0OWelchOOOUOOU 200 t000000O00O0O
ogoooocooooooobo

/

gooooooooooOoooocooooboOoOoobocOoOooOoboOooooOoboOooooooooboOooooOoOooan
00*®0000000000000 stripchart() 000000000000 00000000O0O0O0OOO0OO0O
o0o0ooooooooooo0O00ooooDO0O0Db V <- rnorm(100,10,2) O W <- rnorm(60,12,3) 000000
g

X <- c(V,D)
C <- as.factor(c(rep("V",length(V)),rep("W",length(W))))
X <- data.frame(X,C)

ooo

X <- stack(list(V=V,W=wW))
names(x) <- c("X","C")

0000000000000 0D00000000O00O000000LO0DLD0ODUOL0ODOOOOO RemdroD OO
ooooooood

stripchart (X~C, data=x, method="jitter", vert=TRUE)
Mx <- tapply(x$X,x$C,mean)

Sx <- tapply(x$X,x$C,sd)

Ix <- c(1.1,2.1)

points(Ix,Mx,pch=18,cex=2)

arrows (Ix,Mx-Sx,Ix,Mx+Sx,angle=90,code=3)

33 0000DOO0DOOoDOOooDooDooon

0000000000000 00000O0000000O0000O00D00o00000o00oULDoOOooDUoOoOOoUOoOn
0000000000000 00o0000o0O00ooO0O0D0oO0000O000DOoOoO0o0ooOooOOo0oOoOoooooo
gooooooo

0000000000000 00pairedt 0000000000000 00O0O0O0O0OO0O0OOOOOOOO
000000 0000000000000 0DU0O0D0ODRODODUOODDOO XO YO paredt 00000000
t.test(X,Y,paired=T) 00000000 ODO0O t.testX-Y,mu=0) OOOOOO0O

surveyOOOOOOOOOOOOOOOOOOOOODOOODODODOODODODODOOOOOOOO0O0OO0O0O0O0000ORO
0000000 t.test(survey$iir.Hnd, survey$NW.Hnd, paired=TRUE) 0000000000 OCO0OOOOOO
0000000000000 000000Oo000O0O0 1lecmO0OO0OO0OOOOOOO IcmOOOOODOOOOODOO
0000000 1cmi0O0O0O0ODO0OO0ODOOOODOOOOOOOODOOOOOOO

*22RO000barplot() 00 000000000000 Oarrows()) 0000000000000
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Diff.Hnd <- survey$Wr.Hnd - survey$NW.Hnd

C.Hnd <- ifelse(abs(Diff.Hnd)<1,1,ifelse(Diff.Hnd>0,2,3))
matplot(rbind(survey$Wr.Hnd, survey$NW.Hnd), type="1", 1lty=1, col=C.Hnd, xaxt="n'")
axis(1,1:2,c("Wr.Hnd","NW.Hnd"))

RemdrO0OOO0OO0OO0OO0ODO0OO0OOO0OOODt00DO0O00O0O0O0O0OOOWr.IndODOODOODOO
ONW.EHnd D00O0[OK] 0000000000000 0000000000000000000 5% 00000

ooobooogooooobooooobooobooOoboooobooooOobooooOobOoOoOboOoooo
\_ /

. B
RemdrO OO 0OU0O0O0OO0000O0OO0OO0OOO0OOO0O000OO0OO0OODOOOOOO0DO0O0OO0OOOOOOOOOOOODOOOOoooOoaO
00000000 datasets 00 000000000000 0O0OODOO infert 000000000000 ODOOODODO
Trichopouloset al. (1976) Induced abortion ans secondary infertily.J Obst Gynaec83: 645-6500 0 0000000000
oooooooooo

000o0o0ooooooooooooooooooo 1000 000000000000000000D0OO0OO0O0O0O0O0OOO
000000oooooooo0ooo0000ono 2000000000000000000000000O00020000000
000000000 830 0000000000000l 000000000o0O 740000000000000000
000000oooo2490000 24800 00000000000000O0O0OOODOOOOOOOOOODOOOOO 200
gooooooom

go0o00oo0oo0oo0oooooooo

education: 0000000003 0000000

age: 00O

parity: 000000

induced: 00000000 OCOODOODO20 20000
case: JO0OOOO 10000O 0

spontaneous: 0000000000020 20000
stratum: JOO0O0O00O00O00O0OO

pooled.stratum: OO O O0OO0OO

(oooUooO0oOooOooDOo0DOoUOU0O00O0DO0DO0ODOO0O0OUO0O0OO0DOO0@E)UDODOODOODOODODOO
00o000b0O0bD00000000000000DO00000000000 5% 0000

J
gobooooboooooooobogoooooooboooooboooooboooobboooboooOoboboOOoBooboOoo
0000000000020 00000000000000000000O0OO000O0OOO0O0O0ODOOO0OODOOO
000000o000ooo0o0200000000 2000000000000000000000000000000
00ROOOOOOOOOOOOOOOOOOOOOOtO0O0DOOO00O0O0O0000O0O00B0O0OO0

(1) t.test(spontaneous ~ case, data=infert)*?*

(2) t.test(infert$induced, infert$spontaneous, paired=TRUE)

*24DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDvar.test(spontaneous~ case, data=infert) 00O OO
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Remdr0 0 0O0OO0OO0OO0O0OO0OO0O0OO0OO0OO0OOOOOOO0OOOOOOOOOOOOOOOODOOOOOOOOoOOO
00000000 DO0OD0O000000D0OD0O000DO0D0O case000OO0OO0OO0O0OODODODOODO caseld
0dooooooooooboboobbooooodoodooooooooooooooooDooooooooo
000o0oo0oO<00ooo>0b000ddb group0 0000 DOOO0O0ODODODODOOOOODOOOOOOOO
O0o0000o000o0ooDo0ooooloodo0oo0ooooooooooooooomooooooog
group 0000000000000 OOOOOOOOOOOOOOOOOOOOOOOUOOO controlO1000
00 infertile 0000000000000 DOO0OO0O0OOMOODO0ODOODOOOOOOOOOOOOODO
000 spontanecus D0 0 M O0OO00OO0O0ODOO0ODOODODODOODDOODOODOOODOODOOOODOO groupd
00000000000 0oooooo00oooooooooooo,1,2000000000000O0OO0OOO
0000000000000 00000000000000000000 RemdrO0O0OO0OO0OO0OOOOOOOOO
00odoooooooooooooooooooooobooo0ooobooooooooDbooooooon
goobooooobooono

(1)00DO00DO0O0O0D0U0O00O0D0OU00O00O0 t00D000D0DmMO0OD0DD0UD00DO00OD0OUOONDODODOOOOoOQO
000000000000 000 group0 00000 spontaneous D00 [OK] 00 ODOO0ODOO WelchoO
0000 t00000000000@oo00o0oDoDooo000000000 FOOOOOOO0O0OO groupO OO0
00 spontaneous 000 0000000000000 0O0O0OOOOOO0O p-valueOOOOOOO20000
0d0ooOooooooooboooooO

(2000000000000 00000t0000000000000000 spontaneous0 00000000

induced 0000 [OK] OODDODOODO0ODODODOOODOOO
S /

3.4 WilcoxonOOQOQOQOGO

WilcoxonOOOOOOOODOOODOOOODOOOODOOOOt0o0o0ooooooooooooooooooooo
0000000000000 D00D000D0DO0OO00OOMann-Whitneyo UDOO0OOO0O0D0OO0OOOOODOOOOODOO
KendallD SO0OO00O0O00O00O0OO00O0O0O0ORemdrO 0 @M O0000000OO0DO0O0DO0O0ODOODO0O0DOOO0ODOO

bbobboooooooooooooooooooooooooooooooooOoooOOOOO0O0000AO0
O0OWilcoxonOOOODODOODOOODODODOODOODO

1. 00 XO0O0OOO X, %, Xn DOO00 YOOOOO YV, . Ya DO OO

2.0000000000000000000000000000*500000 X[4],Y2[2], Y173, ..., %[N] 00O
000000 N=m+nD

3.00000000000000000000000000000000000000000000000000
000 (N+1)N/200000000000000000000000000000000000000 XOO
OOooooO0oO0oo

4. XO0O00O0O x0i=12.. mMO000ROOOOOXOOO0OOODO

Rx :Zm:Ri
i=1

0000RO0D0D00000000000000000X0000YOOO000000000000 HOO
00000000000000000000000000000000RO000000000000000
oo-2e

*250p000000000000000

26O O0000000000 RODODODOOO0O0O0DODO0O0O0O0O000 WilcoxonDOODODODOODOOOR,RyOOODDDDOUy =
mn+n(n+1)/2-RyOUy =mn+m(m+1)/2-Rx 00 00Ux 0 UyOOOOOODO UOOOOODODOOOOOOOOOOOMann-Whitney
0UOO00000000Ux-UyO0O0O0O0OD0O000000 KendallD SO0O00000000000000000000000000000
00000000000000000000000000000000000000000000000000000RD00WilcoxonO O
00000000000000000000000000000000000 RSOODO0000O00002*(1-pwilcox(RS,m,n)) 0000
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5,00 XO0YOOOOOOoOOOXONOOOOOOOOOOOOo0OOmOOOOODOoOO0OO0oooyYooooo
00o00o0o0o0o00o0oo0oOoUo0oDo00L23,. . NOODOOOD mOOOOODOOOO0OOO0O00O
00000000000000000000008C,0000*70

6. X>YUOOOODOONCL,ODOOOOODOOUOUD Rx000O000D00000000 KkOoDOOOX<YODOO
0000000 RkOODO0O0OOO0DO0OUOOOO0DO KkOoDOOM™

7.kINCOOOOO 000000 DO0 HOOOOONOOOODOOODOOOOOODOOUOONOOODOOOO
00000000000 00000000000000000000000000000000000000
obooooooooooooooooooooooooooooooooooooom

8. 0000 HOOODOODOODOO

E(R) = i E(R)=m(L+2+...+N)/N=m(N +1)/2
i=1

0100 NOOODOOOOOD I/NODOODODmMOooooooooooo

var(R) = E(R?) - (E(R?)

ood
E(R) = E(Q,R)) = ), E(R) +2) ERR)
i=1 i=1 i<]
ooooo*?o
E(R) = (12+ 22+ ..+ N)/N = (N + 1)(2N + 1)/6
0

1 N N
E(RR)) = m{(; k? - ;k}

1 NY(N+1P N(N+1)(2N+1)
T N(N- 1)( 4 - 6

)

(N+21)(BN+2)
=
ooDoooooooooddvar(Ry) =mN+1DNN-m)/12=mn(N+1)/120000
9.000*0 0000000z ={Rx-ERX)I-1/2}/War(Rx) 000 00OmO n0 00000000000
000000000000000 >190000000000000 5%0000000RO0OO0O0O0OO
00000270 z0 00000 2*(1-pnorm(z0,0,1)) 0000000
10.0000000000000000000 2000000000000000000000000O0000
00000000 X0 {26,3,5000 YO {473,1})00000000000X00 YOO 3000

000000000000000

*27R0O0 choose(N,m) 000000000
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p <- (40+20)/(100+100)

q<- 1-p

Z <- (abs(40/100-20/100)-(1/100+1/100)/2)/sqrt(p*q*(1/100+1/100))
2% (1-pnorm(Z))
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dif <- 40/100-20/100

vardif <- 40/100%(1-40/100)/100+20/100*(1-20/100)/100

difL <- dif - gnorm(0.975)*sqrt(vardif)

difU <- dif + gnorm(0.975)*sqrt(vardif)
cat("ooooopooooo=",dif," 90OUOUOO= [",difL,",",difU,"]\n")
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ROODOODOOOOO0D0OO0OOO0O0O0O0O0OO0OOO prop.testO) 0000000000000 O0O0O0OOOOOODO
goobooog

smoker <- c(40,20)
pop <- c(100,100)
prop.test(smoker,pop)
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Remdr0 0 M OO000000000ODOO0O00DO0OO0DO0OO0DO0O00DOOsurvey D000 ODO0O0OODmMOODOO
0000000000000000C000000000000000O000000 SexOOOOOOO0O W.HNdOO
0000000000000 0000O000o00D00DDO00DO0O00OO[oOK] ODOoooLOoooDoUDoOooOo

4 30000000000000

3000000000000 000 200000000000000000O0000O0OO0O0OONOODO 20000
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sp <- read.delim("http://phi.med.gunma-u.ac.jp/grad/sample2.dat")
summary (aov(HEIGHT ~ VG, data=sp))
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Df Sum Sq Mean Sq F value Pr(>F)
VG 2 422.72 211.36 5.7777 0.006918 **
Residuals 34 1243.80 36.58

Signif. codes: @ ‘***’ §.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1
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00o000o0o000ooo0o0o0oo0o0ooo0o0oo0ooooo0o0ooo0n ADDOO

000D HOOODODoOOoOHWOOOOOo

e HOOD HOODOOODODOODDOOODDODODOOODDODOODOOODDODOODOODOOODOOODOOODOOOO
k>4000000O0D000D000D0O00D0O00 40000000 k=3000000000000D0O00O0O
O00500000HO0HOO0O0O0K-1000000000000000D0000O0
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00000000000000ROOOO0O0OOO fligner.test(HEIGHT ~ VG, data=sp) D0 00000000
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pairwise.t.test(sp$HEIGHT, sp$VG, p.adjust.method="bonferroni") 000000000 20000000
0000000000000000000000000 p0O0O0OD0OO0e0

8 0p00000000000000000000000000000000O00000000000000000000t0000000000
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00 Opairwise.wilcox.test(sp$HEIGHT, sp$VG,p.adjust.method="bonferroni™) OO0 0O O0OOOOOOO
goooooooooooooogylllUUUUg o
O0p.adjust.method 000000000000 DOO00O0DODOODODOOOODODOOp.adjust.method="holm"O O
0J0000RODODODODUOOOODOOODODOODOODODOOOODOODODOOODOOOO0ODOOODOOOOOOO
0000000000000 D00o00o00000oRODODODODOOODOOODOODODODOOOOOOOO
goOo0O0oO0obD000O00O0O00oob0O000O0 accep 0000000 DOODODODODODOODOODOODOO
TukeyHSD (aov(HEIGHT ~ VG, data=sp)) 000000000000 HSDOOOOOOOOOOOO

Remdr0O0O00MO0OO00O0OOO0OOOOOO0ODOO0OOO0ODOOODOO0ODOOOOOODmM200000000
000000Mo00o00000000o00D000O0D0o0D0On TukeyD HSDOOOODOODOOODODO
goooooooooooooooOoOOOOOOOOOOOOOOOOOOOOOO0OO0O0O0O0O0O0O0O0O0O000
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4.4 DunnettO0OQOQ0QOO

DunnetC 000000000 O0OODOOOOOOOO0OOOOOOOODOOOOOOOOOOOOODOOOOOOO
00005000 3000000000000000000000000O00DOO0D0DO0DOOOO0OO0DO0ODO0OO
00000 10000000000000 (mmHGOO)OOODO 5,8,3,10,1% 0000000 100000000
000 20,12,30,16,24 0000 100000000000 31,25,17,40,280000000000000000
gobooooboooooobooooooooooooboOooOo0ooOooOoOoOob0oOobOobOoOobOobOoobOoOooboOoOoo
000000000000 0D00000OU0ODUNRettC0D0000D0OROODOUODOO bpdownD OO OO OO
00000000 DunnettCO000O00000O0O0OO0OOCOOOO0ODOOOOOUODOUOOOOReMdrOO0DOOOO
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bpdown <- data.frame( h
medicine=factor(c(rep(1,5),rep(2,5),rep(3,5)), labels=c("OOOOO","O0CO","OO™)),
sbpchange=c(5, 8, 3, 10, 15, 20, 12, 30, 16, 24, 31, 25, 17, 40, 23))

summary(resl <- aov(sbpchange ~ medicine, data=bpdown))

library(multcomp)

res2 <- glht(resl, linfct = mcp(medicine = "Dunnett"))

confint(res2, level=0.95)

summary (res2)
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000 10000000000000000000000000000O0O000OOO000OOO00OOO0O000O00
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total <- c(100,80,30)

epos <- c(60,30,8)

prop.test(epos,total)

pairwise.prop.test(epos,total)

orisk <- c(4,2,1)

prop.trend.test(epos,total,orisk)
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prop.test(table(survey$Clap, survey$W.Hnd))
pairwise.prop.test(table(survey$Clap, survey$W.Hnd), p.adjust.method="holm")
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cor.test(survey$Height, survey$Wr.Hnd)
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Pearson’s product-moment correlation

data: survey$Height and survey$Wr.Hnd
t = 10.7923, df = 206, p-value < 2.2e-16
alternative hypothesis: true correlation is not equal to 0
95 percent confidence interval:
0.5063486 0.6813271
sample estimates:
cor
0.600991

/
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males <- subset(survey, Sex=="Male")
cor.test(males$Height, males$Wr.Hnd)
females <- subset(survey, Sex=="Female")
cor.test(females$Height, females$Wr.Hnd)
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y <- c(0.24, 0.33, 0.54, 0.83, 1.32)
X <- c(0, 1, 2, 5, 10)

# 0000000000000

res <- Im(y ~ x)

# 0000000

summary (res)

# 000O0ODOO0O0ODOOOOO

plot(y ~ x)

abline(res)

# 000 0.67000000000000O
(0.67 - res$coef[1])/res$coef[2]

ooooooooooooo

~
Call:
Im(formula = y ~ x)
Residuals:
1 2 3 4 5
-0.02417 -0.04190 0.06037 0.02718 -0.02147
Coefficients:
Estimate Std. Error t value Pr(>|t])
(Intercept) 0.26417 0.03090 8.549 0.003363 **
X 0.10773 0.00606 17.776 0.000388 ***
Signif. codes: 0 ' *** @.001 ‘ ** .01 * 0.65° ." 0.1° ' 1
Residual standard error: 0.04894 on 3 degrees of freedom
Multiple R-squared: 0.9906, Adjusted R-squared: 0.9875
F-statistic: 316 on 1 and 3 DF, p-value: 0.0003882
. )

00000000 a=026417000000 b=0107730 0 000000000000000000 98.75%
(098750 000000000 OAdjusted R-squared 00000000 Op-value D00 ODODOD0OODOOOOOOO
gobooooboooobooboooooboooobooooboOoboOoOoOooOoOobOU0oObobOOoOboOoboDObOOoDObo
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res <- Ilm(Wr.Hnd ~ Height, data=survey)
summary (res)
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res <- Ilm(Wr.Hnd ~ Height + NW.Hnd, data=survey)

summary (res)

RemdrO0 O O000MO0O0D0O0O0D0MODO0DOO0ODOO 0000”000 Wr.ANdDOODOOOD OO
oo"00o HeightDDDDDDDDDDDDDDDDI:IEII:IDDDEI NW.HndOOOOOOO0O0O0000
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sdd <- c(0,sd(res$model$Height),sd(res$model$NW.Hnd))
stb <- coef(res)*sdd/sd(res$model$Wr.Hnd)
stb
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00000000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000QOONONNN0000000

Q=) &=> -2y
i=1 i=1
N2 (N2 (MEL XY - B % B i)
;‘y? (Z;y.) /n T ST

00000 QUUODO0OUOULOOO0OU0UDODLOO0OO0OODOOOOOONUOOD Q/MO000DOODOOOOOD
O0Ovae) D0 0D0O0DO0O0OO0OOO0 YOOOvaY)DOOOODOOOOOO rooooo

var(e) = var(Y)(1 - r?)

Ogoooooooooooooo
r? = 1 - var(e)/var(Y)
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plot(Ozone ~ Solar.R, data=airquality)
res <- 1lm(Ozone ~ Solar.R, data=airquality)
abline(res)

summary (res)

Remdr0 OO0 00O0O0O0OMOO0O0O0O0O0O000mMOOOO0O0OO0OO0OO0O0O0O0O0OO0OO0OO0OO0OO0OO0OOoOOoO.0oo
O00O0Odatasets 00 0000airquality D0 00000000000 DO0OO0OO0OOOOOairquality 00
0000000000000 0O0O00UDODOODODUU0.00000OXx0O00 Solar.ROyO OO Ozone OO
0000000000000 00000000O0D [OK]ODODODDOoUDOoODoODODmMoooDooooooooooo
0000000000000 00000 0zoneOOOODOOOODO Selar.ROOODO OKOOODOOODDODOOODO
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Call:
Im(formula = Ozone ~ Solar.R, data = airquality)

Residuals:
Min 1Q Median 3Q Max
-48.292 -21.361 -8.864 16.373 119.136

Coefficients:

Estimate Std. Error t value Pr(>|t])
(Intercept) 18.59873 6.74790 2.756 0.006856 **
Solar.R 0.12717 0.03278 3.880 0.000179 ***

Signif. codes: 0 ’***’ 0.001 '**’ 0.01 '*’ 0.65 ’.’ 0.1’ ' 1
Residual standard error: 31.33 on 109 degrees of freedom

(42 observations deleted due to missingness)
Multiple R-Squared: 0.1213,Adjusted R-squared: 0.1133

F-statistic: 15.05 on 1 and 109 DF, p-value: 0.0001793
\_ J

00000000 Ozone= 18599+ 0.127-SolarROOCD0DOOO0OOOO FOOOOOO pO0O 0.000179310
0000000000000 0000000UO00000D0000O0O00 Adjusted R-squared 000 0.1100
O0o0o0o0o0o0o0o0oUoO0ooo0Ooo0D 10%WoOoO0000o00o0o0oUo0oUo0ooULOoOoooUo
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mres <- 1lm(Ozone ~ Solar.R + Wind + Temp, data=airquality)
summary (mres)
AIC(mres)
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74 00000 (ANACOVA/ANCOVA)
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a00000000000000000000000000000D0000000000000000
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sample3 <- read.delim("http://phi.med.gunma-u.ac.jp/grad/sample3.dat")
plot(TA1989 ~ CAR1990, pch=as.integer(REGION), data=sample3,
xlab="Number of cars per 100 households", ylab="Deaths by traffic accident per 100,000")
east <- subset(sample3,REGION=="East")
regeast <- 1m(TA1989 ~ CAR1990, data=east)
summary (regeast)
west <- subset(sample3,REGION=="West")
regwest <- 1m(TA1989 ~ CAR1990, data=west)
summary (regwest)
abline(regeast,lty=1)
abline(regwest,lty=2)
legend("bottomright",pch=1:2,1ty=1:2,legend=c("East Japan","West Japan"))
summary (1m(TA1989 ~ REGION*CAR1990, data=sample3))
anacova <- 1m(TA1989 ~ REGION+CAR1990, data=sample3)
summary (anacova)
cfs <- dummy.coef(anacova)
cfs[[1]] + cfs$CAR1990 * mean(sample3$CAR1990) + cfs$REGION

00
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< 4 © -4&- West Japan
T T T T T T T
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Number of cars per 100 households
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library(MASS) O data(birthwt) IZIEISpringfieIdEI Baystate 1000000 1890 0000000000000 0OOOO
OO0o00o00o00o00o00o00oobo0oo0oo0oo0oo0oooooooooboooooO0oo0oooooooooOoooooooono
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age OO
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ptl ooooog

ht Oooooooooooa
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library(MASS)

data(birthwt)

birthwt$clow <- factor(birthwt$low, labels=c("NBW","LBW"))

birthwt$crace <- factor(birthwt$race, labels=c("white","black","others™))
birthwt$csmoke <- factor(birthwt$smoke, labels=c("nonsmoke","smoke"))
birthwt$cht <- factor(birthwt$ht, labels=c("normotensive","hypertensive™))
birthwt$cui <- factor(birthwt$ui, labels=c("uterine.OK","uterine.irrit"))
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res <- glm(clow ~ crace+csmoke+cht+cui+lwt+ptl, family=binomial(logit), data=birthwt)

summary (res)

oboooooooooooooooooooooooooooooooooooooOooOoOoOOOOOO000O0
OOO00ODONagelkerked RODOOOODOOOODO

require (fmsb)
NagelkerkeR2(res)
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Call:
glm(formula = clow ~ crace + csmoke + cht + cui + lwt + ptl,
family = binomial(logit), data = birthwt)

Deviance Residuals:
Min 1Q Median 3Q Max
-1.9049 -0.8124 -0.5241 0.9483 2.1812

Coefficients:

Estimate Std. Error z value Pr(>|z|)
(Intercept) -0.086550 0.951760 -0.091 0.92754
craceblack 1.325719 0.522243 2.539 0.01113 *
craceothers 0.897078 0.433881 2.068 0.03868 *
csmokesmoke 0.938727 0.398717 2.354 0.01855 *
chthypertensive  1.855042 0.695118 2.669 0.00762 **
cuiuterine.irrit 0.785698 0.456441 1.721 0.08519 .
1wt -0.015905 0.006855 -2.320 0.02033 *
ptl 0.503215 0.341231 1.475 0.14029
Signif. codes: ©® ’'***’ 0.001 '**’ 0.01 '*’ 0.05 .’ 0.1’ ' 1

(Dispersion parameter for binomial family taken to be 1)

Null deviance: 234.67 on 188 degrees of freedom
Residual deviance: 201.99 on 181 degrees of freedom
AIC: 217.99

Number of Fisher Scoring iterations: 4

o /
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X <- matrix(c(12,9,8,10), 2, 2)
# x <- matrix(c(12,8,9,10), 2, 2, byrow=TRUE) is also possible.
chisqg.test(x)

\
RemdrO0O0 M O00MOO0D0MWO0oO0O00000000O0O0O0OO0OOLO0OOO0DOO0ODOODOOODOO
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oooo 65x 100/200= 325  65x 100/200= 325

000000000000 00oooooOooooOooooao
X2 = (80— 68)7/67.5+ (55— 67)7/67.5 + (20— 32)/325 + (45— 33¥/325 = 13128..

0000000000000 00000000 1-pchisq(13.128,1) 0000000 0.00029.00 000000
500000000000000000000000000000O0000 S%0000000000000000

goooo
ROOODOOOO0OOOD 1000000000000000000O00O0

chisq.test(matrix(c(80,20,55,45),2,2))
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[MASSDDDDDD survey 00000000000 (Sex) 0000 (W.Hnd)ODODOODODOOOOOOODODOOODO ]
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require (MASS)
chisqg.test(xtabs(~ Sex+W.Hnd, data=survey))
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E(a) = nymy /N
V(@) = {(N - ng)/(N — 1)}ny(my/N)(mp/N) = (mumengng) /{N*(N — 1)}
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require (MASS)

fisher.test(xtabs(~Sex+Smoke, data=survey))
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ROODOODOOUOOfmsbOODODOOO0OUOOOODOODOOOOOOD 200000000000D0OODOOOO
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require (fmsb)
Kappa.test(matrix(c(12,2,4,10),2,2))

$Result
Estimate Cohen’s kappa statistics and test the null
hypothesis that the extent of agreement is same as random
(kappa=0)

data: matrix(c(12, 2, 4, 10), 2, 2)

Z = 3.0237, p-value = 0.001248

95 percent confidence interval:

0.2674605 0.8753967

sample estimates:

[1] 0.5714286

$Judgement

[1] "Moderate agreement"
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install.package (RcmdrPlugin.survival)
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ROODODOOOOOLlibrary(survival) 0000000000000 Odat <- Surv(DOOOOOOOOOOO)
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go000oO0oO0oOoO0o0O0D0 2000000010000000000000O00MOD 10000000000 0OOOOOO
0000000000000 0000000ooooooo00o00000oooooooooo®U00oooooooon
gooogo
time OO0O0O0O0OOOOOOOOOOOOOOOOOO
status JO0OO0OO0OOOOOOOOOOOO100000O0O0O0
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a0 0: Miller RG: Survival Analysis. John Wiley and Sons, 19810 O 0 Embury SH, Elias L, Heller PH, Hood CE, Greenberg PL, Schrigr
SL: Remission maintenance therapy in acute myelogenous leuka@issern Journal of Medicind26, 267-272, 19771 0000000
0000 Gehano OO OOO

N J
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library(survival)

print(res <- survfit(Surv(time,status)~x, data=aml))
plot(res,xlab="(Weeks)",lty=1:2,main="Periods until remission of acute myelogenous leukaemia")
legend("right",lty=1:2,legend=1levels(aml$x))
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records n.max n.start events median 0.95LCL 0.95UCL
x=Maintained 11 11 11 7 31 18 NA
x=Nonmaintained 12 12 12 11 23 8 NA
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_(B-4x4 (7-3)x3 (6-3)x3 (5-2)x2 (4-2)x2 (3-1)x1

v g2 72 &2 52 42 32

goooooooood 1.568DDDDDDDDDDX2=1.3382/1.568=l.14I:IDDDDDDDDDDDDDDDD

000 9%% 0000 3.840000000000000005%00000000000000O0OOOODOOOOO

goooOooOooOOooOooOOooOooOoO0o0bO00bO0bO0bO0obO0ODOO0ODOO0ODODO0oDOoDOoDOoDOoDOOoOOooOoOoom
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0000000000 library(survival) 000 O00OOOODOODOO
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library(survival)

time <- c(4,6,8,9,5,7,12,14)
event <- c(1,1,1,1,1,1,1,1)
group <- ¢(1,1,1,1,2,2,2,2)
dat <- Surv(time,event)
survfit(dat~group)
survdiff(dat~group)
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library(survival)
survdiff(Surv(time,status)~x, data=aml)
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Call:
survdiff(formula = Surv(time, status) ~ x, data = aml)

N Observed Expected (0-E)A2/E (0-E)A2/V
x=Maintained 11 7 10.69 1.27 3.40
x=Nonmaintained 12 11 7.31 1.86 3.40
Chisq= 3.4 on 1 degrees of freedom, p= 0.0653
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require(survival)
summary(res <- coxph(Surv(time,status)~x, data=aml))
KM <- survfit(Surv(time,status)~x, data=aml)
par(family="sans",las=1,mfrow=c(1,3))
plot(KM, lty=1:2, main="aml OOOOO0O0O0OOO0OOOOOOO™
legend("topright", 1lty=1:2, legend=c("CO","O000O"))
plot(survfit(res),
main="aml 0000000000000 OO0OO\nOOOOOOO9SOOOOO™
plot (KM, fun=function(y) {log(-log(y))}, lty=1:2, main="aml 00000000 OOOO")

20000000000000000D0000O

Call:
coxph(formula = Surv(time, status) ~ x, data = aml)

n= 23
coef exp(coef) se(coef) z p
xNonmaintained 0.916 2.5 0.512 1.79 0.074

exp(coef) exp(-coef) lower .95 upper .95
xNonmaintained 2.5 0.4 0.916 6.81

Rsquare= 0.137 (max possible= 0.976 )
Likelihood ratio test= 3.38 on 1 df, p=0.0658
Wald test = 3.2 on 1 df, p=0.0737

Score (logrank) test = 3.42 on 1 df, p=0.0645
\_ /
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